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Question No: 1

Exhibit button
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IRSVP Signaled Service Provider MPLS Core I

Which two statements are correct about the service provider MPLS network shown in the exhibit?
(Choose two.)

A. R3 will perform a label pop operation on the transport MPLS label.

B. Traffic from Network 1 to Network 3 and traffic from Network 1 to Network 4 each need their own unique label-switched path.

C. Traffic from Network 1 to Network 3 and from Network 1 to Network 4 can share the same labelswitched path.

D. R3 will perform a label swap operation on the transport MPLS label.

Answer: AD

Explanation:

Question No: 2

Which two statements are correct about 1S-1S? (Choose two.)

A. Alevel 1 only router can never form an adjacency with a level 2 only router.

B. For level 2 adjacencies, the area IDs can be different.

C. For level 2 adjacencies, the area IDs must be the same.

D. A level 1 only router can form an adjacency with a level 2 only router.

Answer: CD

Explanation:

Question No: 3

You are adding an IPv6 configuration to an Interface on a Junos device.

In this scenario, which statement is correct?

A. The link local address must be manually configured within the fd00::/8 prefix range.
B. The link local address must be manually configured within the fe80::/10 prefix range.

C. The link local address is automatically created using the MAC address within the fe80::'10 prefix range.
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D. The link local address is automatically created using the MAC address within the fd00::/8 prefix range.

Answer: D
Explanation:
Question No: 4

Which statement is correct about 1S-IS?

A. IS-IS is a distance vector routing protocol.

B. IS-IS is a path vector routing protocol.
C. IS-ISis a link-state routing protocol.
D. IS-IS is a classful routing protocol.
Answer: C

Explanation:

Question No: 5

Which new field is added to an IPv6 header as compared lo IPv4?

A. version

B. checksum

C. fragment offset
D. flow label
Answer: D
Explanation:

Question No: 6

Interface ge-0/0/0.0 connecls yout network to your ISP. You want to advertise this interface address as an Internal route In OSPF without creating a neighbor with your ISP.

In this scenario, how is this task accomplished?

A. Remove interface ge-0/0/0.0 from OSPF.

B. Create a generated route for Interface ge-0/0/0.0.
C. Add ge-0/0/0.0 as a passive interface In OSPF.

D. Configure a static route for Interface ge-0/0/0.0.

Answer: D
Explanation:

Question No: 7

What are two types of SIDs used in segment touting? (Choose two.)

A. node
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B. adjacency
C. link

D. interface

Answer: A, B
Explanation:

Question No: 8

Exhibit
user@rR2> show ospf route
Topology default Route Table:
Prefix Fatch Eouts NH Metric NextHop Nextmop
Tyoe Type Type Interface addr/label
1 :%2.168:1.1 Intra AS BR F 1 ge-0/0/3. 172.26.1.1
Intra IFP ge 172.26
Ext2 1F 172 1
Intra ir i
Intra IF
Intxra 1P
Inter IF 2 ge-0/9/3.0 172.26:2.2
Ext2 & 1 ge-=0/8/3.0 172.2€.1.1
Intra IF 1c60.0
tntad 1F g=-0/0/1.0 172.26:2.2
Inter Netwozk 1z 2 ge- 1.0 172.26.2.2

Which prefix in the output shown in the exhibit is an external prefix injected by an OSPF router?
A.192.168.1.3

B. 172.18.1.0/24

C.192.108.1.4

D. 172.26.4.0730

Answer: D

Explanation:

Question No: 9

Which statement describes integrated routing and bridging (IRB) interfaces?
A. An IRB interface Is an IP gateway For hosts of a bridge domain.

B. An IRB interface assigns interfaces to VLANSs.

C. An IRB interface enables Layer 2 switching on the router.

D. An IRB interface defines a bridge domain.
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Answer: C
Explanation:
Question No: 10

Exhibit

uzerdroutsxr> show mpls 1sp ingrsss detail
ingress L3P: 1 sessions
1 2132.168:0.3
From:- 0,9.C.0, Scate: bBn, RctiveRoute: 0, LSPrame: Lo-R3
i | activeFath: (nons)
LSPtype: Static Configured, Penultimate hop popping
lLioadBalance: Random
Follow destinaticn IGP metric
Facker, Switching type: Packet, GEID: IPV4
o ng Status : Enaklad
Primary State: DOn

i Briorit!

j Smaxrtorg
Flap Cou

MBB Coy

TED databa

{edit protocol
us

ar
oupf |

area 0.0.0.0{
P interfaces ge-0/0/

intarface ge-0/2/4.0;

rsvp |
intezface all;

ogp |
greoup Int |

internal;

local-address 152.168.0.1;

gxports nhs;

2ighbor 192,16E8.0.37

The LSP is not establishing correctly.

Referring to the exhibit, what should you do to solve the problem?
A. Enable traffic engineering for the OSPF protocol.

B. Enable traffic engineering for the IS-IS protocol.

C. Enable traffic engineering for the BGP protocol.
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D. Enable traffic engineering for the RSVP protocol.

Answer: D

Explanation:

Question No: 11

You are bringing a new network online with three MX Series devices enabled for STP. No root bridge priority has been configured. Which statement is true in this scenario?
A. The device with the lowest MAC address will be elected as the root bridge.

B. The device with the highest MAC address will be elected as the root bridge.

C. The device with the lowest numerical 100 IP address will be elected as the root bridge.
D. The device with the highest numerical o0 IP address will be elected as The bridge.
Answer: A

Explanation:

Question No: 12

What Is a key differentiator of generate routes from aggregate routes?

A. Generate routes use a forwarding next hop.

B. Generate routes have a default next-hop value of reject.

C. Generate routes have a default preference value of 210.

D. Generate routes cannot be used as a gateway of last resort.

Answer: C

Explanation:

Question No: 13

Which statement is correct about the FE80;:/10 prefix?

A. This prefix range is used for the link local address.

B. This prefix range is used on the loopback interface.

C. This prefix range is reserved for multicast applications

D. This prefix range is not reserved.

Answer: A

Explanation:

Question No: 14

You are asked to create connections between routing instances on the same Junos device and route between the connected Instances. What are two ways to accomplish this task? (Choose two.)
A. Use physical interfaces.

B. Use an IRB interface.
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C. Use logical tunnel interfaces.
D. Use loopback interfaces.
Answer: A, B

Explanation:

Question No: 15

Which configuration selling prohibits a static route from being redistributed by a dynamic routing protocol?

A. route-filter

B. no-readvertise

C. qualified-next-hop

D. passive

Answer: B

Explanation:

Question No: 16

What is the correct order of BGP attributes for active route selection?
A. next hop -> local preference -> AS path -> MED -> origin
B. next hop -> AS path -> local preference -> origin -> MED
C. next hop -> local preference -> AS path -> origin -> MED
D. next hop -> origin -> local preference -> AS path -> MED
Answer: C

Explanation:

Question No: 17

What are three well-known mandatory BGP attributes? (Choose three.)
A. next hop

B. origin

C. community

D. MED

E. AS path

Answer: A, B, E

Explanation:

Question No: 18

Exhibit
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M\ Exhibit B

fediz]

user@rls snow

ledit]
user@Rls show protocols bgp

group int-64502 |

type lnte

neighbor 1%2.168.100.27

group 2xt-&84501 |

type sxternal;

neighbor 172.30.1.2;

Referring to the exhibit, where should next-hop-self-policy be applied to alter the next-hop value?
A. The policy is applied as an export policy for the group int-64503.

B. The policy is applied as an export policy for the group ext-64501.

C. The policy is applied as an import policy for the group int- 64 503.

D. The policy is applied as an Import policy for the group ext-64501.

Answer: D

Explanation:

Question No: 19

Exhibit

[ IR

Level 1 Level 2

¥ T

AN (ALY IR L oty ST

DD

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Prefixes in Level 1 will be redistributed to Level 2.
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B. Prefixes In Level 2 will be not redistributed to Level 1.

C. Prefixes in Level 2 will be redistributed to Level 1.

D. Prefixes in Level 1 will not be redistributed to Level 2.

Answer: C

Explanation:

Question No: 20

You are deploying link aggregation groups.

A. By default, what are two considerations in this scenario? (Choose two.)
B. There should only be four member links per LAG.

C. All the ports must have the same speed.

D. Member links are required to be contiguous ports.

E. Member links can reside on different members within an MC-LAG.
Answer: B, D

Explanation:

Question No: 21

Exhibit

{edit)

[ediz]
user@switcn$ show interfaces ze-1/4/5
it 00
family bridge |
interface-mode access;

vian-id 2;

You are asked to assign interface xe-1/0/5 to a virtual switch.
What must be accomplished to complete the configuration?
A. Interface xe-1/0/5 must be added to routing-instance sw-1 vlan_2.

B. Interface xe-1/0'5 must be a trunk port.

IT Certification Exams - Questions & Answers | VCEup.com

VCEplus is partner of VCEup.com


https://vceup.com
https://vceup.com
https://vceup.com
https://vceup.com

C. Interface xe-1/0/5 must be added to routing-instance sw-1.

D. An IRB interface must be configured to routing-instance sw-1 vlan_2.
Answer: C

Explanation:

Question No: 22

Exhibit
132er@R1l> show VIrp summary
Sroup VR =tate VE Mods Typs Address
10 master Active 1cl
vip 192.25.100.1
» show VIXp summary
Szate SToUp VR Mcde Type Address
ep 10 Active lal 172.25.100.3
vig 172.25.100.1

Referring to the exhibit, which statement is true about VRRP?

A. VRRP communication between the two devices is not functioning correctly.

B. Both routers are in the same state because they have the same VRRP priority.

C. RRP Is functioning normally in active/active mode.

D. The routers should use different virtual IP addresses for VRRP to function correctly.
Answer: D

Explanation:

Question No: 23

Exhibit.
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M\ Exhibit £

edit 1C L pti
T how
V/ea

[edit routing-options]

uzer@router$¥ run show route protocol aggragate

new. . destinaticns, 21 rcutes (20 active, 0 holddown, 1 hidden)
[ ines6.0: 10 destinations, 10 routes (10 active, ( helddown, 0 hidden

adi uting-cptions]

searfirouters run show u hidd

inec,0y 21 destinations, 21 routes (20 active, T holddown, 1 hidden)

+ Active Route, - L3sT Active, Both

72.21.0 22 [Aguragate) 2

inecé€,0: 10 degrinarions, 10 routss (10 actiwve; 0 holddewn, 0 hidden -

Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24 networks. However, when you view the routing table, your new route hidden.
Which action would you perform to determine the problem?

A. Verify that you have active contributing routes on the device.

B. Verify that you have configured a policy on the device to accept aggregate routes.

C. Verify that you have defined a metric value for the aggregate route.

D. Verify that you have set the preference to a lower default value.

Answer: D

Explanation:

Question No: 24

What are two bridging concepts that are used to maintain an Ethernet switching table? (Choose two.)
A. learning

B. exporting

C. aging

D. timing

Answer: A

Explanation:

Question No: 25

Exhibit
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A\ Exhibit =

DR BDR

ge-0/0/1 I ge-0/0/1
ge-0/0/1 ge-0/0/1 ge-0/0/1
<)
e

DRother DRother DRother

You are asked to configure the OSPF environment to prevent the DRother routers from participating in DR/BDR election.

Referring to the exhibit, which command will accomplish this task?

A. set protocols ospf area 0.0.0.0 interface ge-0/0/| priority 255

B. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority O

C. set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma
D. set protocols ospf area 0.0.0.0 interface ge—0/0/1 interface-type p2p
Answer: A

Explanation:

Question No: 26

Exhibit
M\ Exhibit
Ethernet header
IP header
TCP header
Payload
< = =
Packet
A CIJD;—’
NI7ANNIv,
Ri
I Service Provider MPLS Core |
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Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network from Site 1 to Site 2 as shown in the exhibit? (Choose two.)

A. R2 will perform a lookup using the mpls.O table.
B. R1 will perform a lookup using the Inet.3 table.
C. R1 will perform a lookup using the mpls.O table.
D. R2 will perform a lookup using the inet.3 table.
Answer: A

Explanation:

Question No: 27

Exhibit

S Exhibit

LSI1 A AS 65501

ISPB AS 65502

Advertised Prefixes: 172.20.0.0/24 172.20.20.0/24 172.20.21.0/24
\N

Advertised Prefixes: 172.20.0.0/24

172.20.1.0/24

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.

B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.

C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.

D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Answer: C
Explanation:

Question No: 28
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Exhibit

You have an established LSP between your R1 and R5 devices using the configuration shown in the exhibit. You are asked to ensure that MPLS labels are used to forward traffic by all devices within the LSP.
Which action will accomplish this behavior?

A. Configure the ultimace-hop-popping statement under the R1_TO_RS5 label switched path on R1.

B. Configure the explicit-null statement under the protocol mpls hierarchy on R1.

C. Delete the no-espf statement under the R1_TO_R5 label switched path on R1.

D. Configure the install statement under the R1_TO_RS5 label switched path on R1.

Answer: D

Explanation:

Question No: 29

Exhibit
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M\ Exhibit

5TP bridge parameters

Hello tims

Maxirum age

Laczl paranmeTers
Bridges ID
Extended =yster ID

Internal instance ID

cser@switch> show spanning-tres bridge

il delay
e -age
of topelogy < !
Time since las:t topology change
o Topoalogy change initiator .0
Topolegy <hange last recvd, from : 20:6b:£5:31:06:0b

Which two statements ate correct about the information shown in the exhibit? (Choose two.)

A. The root bridge is reachable using the ge-0/0/14 interface.

B. This switch is the root bridge for this spanning tree topology.

C. This switch has a bridge priority of 8k.

D. The root bridge's priority Is 4k.

Answer: BD
Explanation:
Question No: 30

Exhibit

ISPC
AS 65503
-, A
- e - -~
ISP A ISP B
AS 65501 AS 65502
N b
hha o
6\00\ \\-\_ Advertised Prefixes: 7 QOQ
AN 1722000016 [0 %
AT N

‘ R2: local preference = 200

R1: local preference = 100 ‘

N %
. 1 Bop !
,' R1\ / R2
| :

r, ‘R3

\ : /’

\
\

\_  Asessi2 [/
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You are advertising a summary route that represents your local network (172.20.0.0716) to both ISP A and ISPB. You want to influence all traffic sent to you from ISP C to go through R2.
How would you accomplish this task?

A. On R1, prepend your AS number three times on the 172.20.0.0/16 route when advertising It to ISP 1.
B. On R1, change the local preference value to 250.

C. On R2. prepend your AS number three times on the 172.20.0.0/16 route when advertising it to ISP 2.
D. On R2, change the local preference value to 50.

Answer: B

Explanation:

Question No: 31

Which two statements ate correct about the community BGP attribute on a Junos device? (Choose two.)
A. The community attribute is a mandatory BGP attribute.

B. If the community attribute is present, it is ignored and deleted in the BGP updates.

C. If the community attribute is present, it should be passed unchanged in the BGP updates.

D. The community attribute is an optional BGP attribute.

Answer: AC

Explanation:

Question No: 32

Exhibit
172.20.1100124  203.0.113.030 203.0.13.64130 475 20.411.0124
10 4 * SR 85 6871\ . 49
ﬁ— — C pre——— w :' i
User A R1 R2 User B
l00: 198.51,100.1 l00: 192.0.2.1
@r-0/0/0.0 gr-0/0/0.0

Referring to the exhibit, how do you verify the status of the tunnel from R1?
A. Issue the ping 172.20.111.10 source 172.20.110.1 command.

B. Issue the ping 172.20.111.10 source 198.51.100.1 command.

C. Issue the ping 172.20.iii.io source 203.0.113.2 command.

D. Issue the ping 172.20. Ill. 10 command.

Answer: C

Explanation:

Question No: 33
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You are asked to configure an LSP which uses the OSPF link state database for path computations.

Which two statements are correct in this scenario? (Choose two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
B. Traffic engineering extensions ate enabled by default In OSPF.

C. Traffic engineering extensions are not enabled by default in OSPF.

D. You must use the policing parameter in the label-switched-path configuration.
Answer: AC

Explanation:

Question No: 34

The segment touting SRGB start label Is 10,000 and the SRGB index range is 500.
In this scenario, which two statements are correct? (Choose two.)

A. The first usable label is 10,001.

B. The last usable label is 10.501.

C. The last usable label is 10,499.

D. The first usable label Is 10,000.

Answer: CD

Explanation:

Question No: 35

Exhibit
M\ Exhibit ®
roct@R1> show configuration protocols isis
nterface ge (
L 5 rface ge- 1
terfaca
level 1 dis
level 2 wide
reference-pandwidch 1
rooT@R1> show configuration interfaces ge-0/0/0
unit 0 (
family fne= |
address 10,1.2.2/320;
)
family inet
address 10.1.2.1/3
)
i State Held (secs3) SNEA
2 up -
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You configured interface ge-0/070.0 to run IS-IS. but this interface does not appear in the output of the show isis adjacency command as shown in the exhibit.

What is the problem in this scenario?

A. This is a Gigabit Ethernet interface, that is incompatible with the reference-bandwidth 100g statement.

B. The family iso statement must be added to the logical interface.

C. The router at the other end of the link Is not sending any IS-IS Hello messages.
D. The router at the other end of the link is a Level 1 only router.

Answer: B

Explanation:

Question No: 36

Exhibit

M Exhibit ¥ B

Router A Router B

Router ID _IL. 11 12 _”_. Router ID
10.1.1.1 ‘_”_ \/ ’_”_ 10.1.1.2

MPLS
Labels

The routers shown in the exhibit ate configured for segment routing.

In this scenario, what is the adjacency SIO that Router B advertises to Router A?
A.12

B.10.1.1.1

C.10.1.1.2

D.11

Answer: B

Explanation:

Question No: 37

An OSPF router does not have a router ID configured.

In this scenario, which statement is correct about the router ID?

A. The Junos OS will use the IP address assigned to the interface with the lowest MAC address.

B. A router ID will not be assigned until it is manually configured.

C. The Junos OS will use the IP address assigned to the loopback interface for the router ID.
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D. The Junos OS will use the IP address assigned to the Interface with the highest priority.
Answer: B

Explanation:

Question No: 38

You want to see a detailed list of all established BGP sessions. In this scenario, what would be a valid command to accomplish this task?
A. show bgp neighbor

B. show bgp summary

C. show rouse receive-protocol bgp <neighbor IP address>

D. show rouse protocol bgp

Answer: D

Explanation:

Question No: 39

What are three types of MPLS routers? (Choose three.)

A. transit routers

B. peering routers

C. egress routers

D. aggregation routers

E. ingress routers

Answer: ACE

Explanation:

Question No: 40

Exhibit
M\ Exhibit R
2001:DB8:0:0:2005::/64

ZTh

@::1 2 (J l_,
) ge-00/1 ge-0/0/1\ ][ ;'?.5
Uy, JD
R1 R2
Lo0 192.168.1.1/32 LoD 192.168.1.2/32

You are asked to configure OSPF between routers R1 and R2 using IPv6 addresses.

Which two tasks will accomplish your objective? (Choose two.)
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A. Issue the sec protocols ospf area 0.0.0.0 interface ge-0/0/1.0 command.
B. Under the [edit routing-options] hierarchy, configure a 32-bit router ID.
C. issue the set protocols ospf3 area 0.0.0.0 interface ge-0/0/1.0 command.
D. Under the [edit routing-options] hierarchy, configure a 128-bit router ID.
Answer: AD

Explanation:

Question No: 41

You want to enable a routing platform with redundant REs to switch from a primary RE to a backup RE without alerting peer nodes. Which two technologies would you use to satisfy this requirement?

(Choose two.)
A. GRES

B. VRRP

C.NSR

D. ISSU

Answer: BC
Explanation:
Question No: 42

Exhibit

A\ Exhibit &

preference 5;
|
rotute 172.24.0.0/29 nexc-hop ( 272.24.0.100 172,24.0,101 )7
forwarding-table |
expert lopp
edit])
usar@rlg show policy- ns peli statement lbpp
term 1
then |
lozd-balsnce per-packst

Which type of load balancing is shown in the exhibit?
A. elastic load balancing

B. per-packet load balancing
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C. per-flow load balancing
D. network load balancing
Answer: D

Explanation:

Question No: 43

Exhibit
M\ Exhibit ®
I Network 1 Network 3
Eh

[RSVP Signaled Service Provider MPLS Core I

s D z—@
T | gl gy 1NN

J

Which two statements are correct about the service provider MPLS network shown in the exhibit?
(Choose two.)

A.R3is considered a P router.

B. R3 is considered a PE router.

C. R3is considered a transit router.

D. R3 is considered an ingress router.

Answer: AB

Explanation:

Question No: 44

You have created a routing instance named vr3 that will provide access to Server 2 (10.0.0.2) (or the hosts on the 10.10.10.0/24 network. Which command would you use to test connectivity between vr3 and Server 2?
A. user@vr3> ping 10.0.0.2 count 5

B. user@vr3> ping 10.0.0.2 count 5 source 10.10.10.1

C. user9routerl> ping 10.0.0.2 count 5

D. user@routerl> ping 10.0.0.2 routing-instance vr3 count 5

Answer: C

Explanation:

Question No: 45

Exhibit
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203.0.113.0/24

ThaY

Routers R1 and R4 have a VRRP priority of 90, while R2 and R3 have default VRRP priorities Referring to the exhibit, which router will be elected as the primary VRRP router?

A.R3

B. R4

C.R2

D.R1

Answer: D
Explanation:
Question No: 46

Exhibit

Internet

Referring to the exhibit, what will happen to untagged frames?

A. The untagged frames are dropped.
B. The untagged frames are load balanced between VLAN 10 and VLAN 20.
C. The untagged frames are associated with VLAN 10.

D. The untagged frames are associated with VLAN 20.

Answer: A
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Explanation:
Question No: 47

Exhibit

J3er@R1> show bhgp summary

Threading mode: BGP I/0 C
Defanlt eBGP mods: advertise - acgept, receive - 3ccoept
Greups: 1 Peers: 1 Down 1
Table Tot Paths AcCt Paths Suppressed History Damp State Pending
inez.0
Peer AS InPkre OutPit out flars Last Up/Dwn
tate | EAcrive/Received/Accepted/Damped, ..
£z.1¢ €4512 [x = J a 1:01 Active

user@Rl> show configuration routing-opticons

Referring to the exhibit, internal BGP between R1 and R2 is not establishing.
What is the problem In this scenario?

A. R1 does not have a route to 192.168.200.2.

B. R1 and R2 must each have unique AS numbers.

C. R1 needs to be configured with an explicit router ID.

D. R1 needs to be configured with a next-hop self policy.

Answer: A

Explanation:

Question No: 48

Exhibit

user@routercs

Referring to the exhibit, which two additional steps should you lake to fully configure NSR? (Choose two.)
A. You should configure the max period for NSR precision timers.
B. You must configure GRES.

C. You must configure graceful restart.
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D. You should configure commit synchronization.
Answer: AB

Explanation:

Question No: 49

Exhibit

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.
Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.

B. The command is only available on the backup Routing Engine.

C. The command is only available If a backup router is configured.

D. The command is only available If graceful restart is enabled.

Answer: B

Explanation:

Question No: 50

Which BGP attribute Is used to detect touting loops?

A. AS path

B. MED

C. local preference

D. next hop

Answer: A

Explanation:

Question No: 51

Which two statements are correct about the way that BGP propagates routes by default? (Choose two.)
A. A route learned by EBGP will be re-advertised to IBGP peers.

B. A route learned by IBGP will not be re-advertised lo IBGP peers.

C. Aroute learned by EBGP will not be re-advertised to IBGP peers.
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D. A route learned by IBGP will be re-advertised to IBGP peers.

Answer: CD

Explanation:

Question No: 52

Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.)

A.Typel

B. Type 3

C. Type 5

D. Type 7

Answer: CD

Explanation:

Question No: 53

Which LSA type does an OSPF ABR use to advertise external routes generated by an NSSAASBR into the backbone?
A. Type 5

B. Type 7

C.Type 3

D. Type 1l

Answer: C

Explanation:

Question No: 54

Which two statements are correct when using LDP? (Choose two.)

A. The Inet.3 table will contain only the paths explicitly defined.

B. The inet.3 table will contain a full mesh of label-switched paths to other LDP-enabled routers.
C. LDP label-switched paths are created by configuring LDP on at least one physical router interface.
D. LDP label-switched paths are created by configuring LDP on the loopbacK Interface.

Answer: BC

Explanation:

Question No: 55

Which two interface types are used as tunnel endpoints? (Choose two.)

A. ae

B. ip
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C.ge

D. gr

Answer: BC
Explanation:
Question No: 56

Exhibit

RVSP LSP with 300 Mbps reserved
. RVSP LSP with 700 Mbps reserved

The exhibit shows a topology with 1 Gbps interfaces between routers, and four RSVP LSPs operating with the respective bandwidth reservations.
Which path will be selected for a new LSP from R4 to R6 with a bandwidth reservation of 400 Mbps?

A.R4->R1->R2->R5->R6

B. R4 ->R5->R6

C.R4->R5->R2->R3->R6

D.R4->R1->R2->R3->R6

Answer: A

Explanation:

Question No: 57

Exhibit
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r@routers snow interfaces ge-G/40/
and= O |
family bridge |

interface~mode trunk;

vian-id-lisc 1CI-120;

Grocuterf show interfaces ge-4/0/1

ible-vlan-tagging;

ladiz]
iserfrouterd =how bridge-domains

N vlan-id-1list 101-120:

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0/1 unchanged.

B. Traffic ingressing ge-0/0/0 that is tagged will VLAN 100 will be dropped.

C. Traffic ingressing ge0/0/0 that Is tagged with VLAN 200 will egress ge-0/0/1 with an outer VLAN tag of 200.
D. Traffic ingressing ge-0/0/0 that is tagged with VLAN 101 will egress ge-0/0M with an outer VLAN tag of 200.

Answer: AB

Explanation:

Question No: 58

Exhibit
ISP B
(AS 64513)
.\
N
N ISP C
— (AS 64514)
N .
N\ 4 \
. ‘. 203.0.113.0/24 is reachable

\ through AS 64514
\ \
- N % R2
S
N\

AS 64512
203.0.113.0/24 is reachable ‘é IBGP
through AS 64513 \
R1 R3
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You want the R1 and R3 routers to forward traffic destined to the 203.0.113.0/24 network through R2. Which BGP attribute would you modify to satisfy this requirement?
A. community

B. origin

C. MED

D. local preference

Answer: C

Explanation:

Question No: 59

Exhibit

ISP C 3
(AS 64513)

203.0.113.0/24 is reachable
through AS 64513

AS 64512

You confirm that the R2 and R3 routers are receiving a BGP route to the 203.0.113.0/24 network, but both routers display the route as hidden. Referring to the exhibit, which two actions solve this problem? (Choose two.)
A. Apply the routing policy on R1 as an export policy to the IBGP group.

B. Apply the touting policy on R1 as an Import policy to the IBGP group.

C. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP

address that R1 uses for IBGP peering.

D. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP

address that R1 uses for EBGP peering.

Answer: CD

Explanation:

Question No: 60

Exhibit
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. The OSPF Interfaces are configured as point-to-point.

B. The ge-0/0'1.0 Interface is configured as passive.

C. The R2 device is an ABR.

D. Junos OS default OSPF hello timers and dead intervals are used on all interfaces.

Answer: BD

Explanation:

Question No: 61

How does a Junos device learn about MAC addresses when Il is first connected to an Ethernet LAN?

A. The device sends out a network broadcast message asking tor all devices and MAC addresses on the network and stores this information In addition lo the interface from which the response was received.
B. The device learns the destination MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was received.
C. The device learns the source MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was received.

D. The device sends out a network multicast message asking for all devices and MAC addresses on the network and stores this Information in addition to the interface from which the response was received.
Answer: D

Explanation:

Question No: 62

Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)

A. By default, the next-hop value is changed across IBGP links.

B. By default, the next-hop value is changed across EBGP links.

C. By default, the next-hop value is not changed across IBGP links.

D. By default, the next-hop value is not changed across EBGP links.

Answer: A

Explanation:

Question No: 63
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Exhibit

ISP
AS 64525
\
>
2% S
ﬁ:\ Q
oy ©
2.\
NG, AS 64501
\
\

ge-0/0/3.0 ge-0/0/3.0
loO/RID: 192.168.200.1 '~ ¢
< (1) 182.1.1.0/30 (.2)

Router1 Router2
IBGP

lo0/RID: 192.168.200.2

[edit]
user@Routerl# show protocols bgp
group External (|
peer-as 64525;
neighbor 172.25.1.2;
}

Referring to the exhibit, what must be included in the Routel configuration when establishing an EBGP session with the ISP?

A. A local address must be specified.

B. A local AS must be specified.

C. The BGP session type internal must be specified.
D. The BGP session type external must be specified.
Answer: A

Explanation:

Question No: 64

Exhibit
Network 1 Network 3
10.10.11.0/24 10.10,13.0/24
Network 2 7 Nebiork 4

10.10.12,0/24 % %

[RSVP Signaled Service Provider MPLS Core I

Referring to the exhibit, what is the minimum number of LSPs required to support alt four networks?
Al
B.2
C.8
D.4

Answer: C
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Explanation:

Question No: 65

You are bringing a new network online with three IS-IS routers using default Junos election priorities.

The routers are configured as Level 2 only IS-IS routers. Which statement is true about the DIS election in this scenario?
A. The router with the highest MAC address will be elected as the DIS.

B. The router with the highest numerical |00 IP address will be elected as the DIS.

C. The router with the lowest numerical [o0 IP address will be elected as the DIS.

D. The router with the lowest MAC address will be elected as the DIS.

Answer: B

Explanation:
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